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Kf;Nfhzpfs; - I 

juk; - 10 
njhFg;G - nr . Fzrpq;fk; 

Nf/nj`p/ = fjpNurd; Njrpa ghlrhiy 

    

 

%d;W gf;fqfis nfhz;l xU %ba jsTU Kf;Nfhzp vdg;gLk;.  

,k;Kf;Nfhzpapy; AB,BC,AC vd;gd gf;fq;fs; MFk;. BAC, ABC, ACB 
vd;gd Nfhzq;fs; MFk;. 

 

<
 

<
 

<
 

mfj;njjpu; Nfhzk; 

Kf;Nfhzpapd; Gwf;Nfhzk;;; 

cUtpy; Kf;Nfhzp ABC apy; gf;fk; BC ia D tiu ePl;Lfpd;wNghJ 

ACD vDk; Gwf;Nfhzk; cUthFk; 

 

<
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p 

q 

 gpwp];ly; ml;ilj; Jz;L xd;wpd; kPJ cUtpy; 
fhl;lg;gl;Ls;sthW Kf;Nfhzp xd;iw tiuf. mjd; xU 
gf;fj;ij ePl;bg; Gwf;Nfhzk; xd;iwg; ngw;Wf;nfhz;L 
mjd; njhlu;ghd mfj;njjpu;f; Nfhzq;fs; ,uz;ilAk; 
epow;Wf. 

 

nraw;ghL 

 cUtpy; cs;sthW mNj msthd Kf;Nfhzpia gapw;rp 
nfhg;gpapy; tiue;J Gwf;Nfhzj;ijAk; Fwpj;J nfhs;f 

  NkNy Fwpg;gpl;l mfj;njjpu;f; Nfhzq;fs; ,uz;ilAk; ntl;b 
mlu;fshf Ntwhf;Ff 

 

 ntl;b Ntwhf;fpa mfj;njjpu;f; Nfhzq;fs; ,uz;ilAk;  
Gwf;Nfhzj;Jld; nghUe;JkhW itj;J xl;bf;nfhs;f. 

 

𝑎 

𝑏 

𝑎 𝑏 

𝑎 
𝑏 

𝑏 

𝑎 
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cjhuzk; - 1 

   𝑥  =    400  +    600  
 

   600  
 

   400  
 

   𝑥0  
 

   𝑥  =    1000   
 

cjhuzk; - 2 

   1460  
 

   770  
 

   𝑥0  
 

   𝑥  =    1460 −    770  
 

   𝑥  =    690  
 

,g;NghJ ehk; vkJ gapw;rp Gj;jfj;jpy; 91 k; gf;fj;jpy; kPl;lw; gapw;rpapy;  

(1) iv tJ tpdhit ghug;;Nghk.; 

 

cUtpy; Kf;Nfhzp ,yf;fk; 1 ia 
ftdpAq;fs; mjpy; mff;Nfhzq;fshd 

400, 700 Ak; $l;bdhy; b Nfhzkhfpa 
Gwf;Nfhzk; fpilf;Fk; 

    𝑏  =    400  +    700  =   1100 
 mNjNghy; Kf;Nfhzp ,yf;fk; 2 ia 
ftdpAq;fs;  

 
   𝑎  =    700 −    500  

 
   𝑎  =    200  

 

1 2 

mNj Nghy;  ghlGj;jfj;jpy; 91 k; gf;fk; kPl;lw; gapw;rpapy; Vida 
tpdhf;ffis ed;F mtjhdpj;J nra;J ghu;f;f 
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,g;NghJ ehk; vkJ ghlGj;jfj;jpy; 93 k; gf;fk; Vida xU rpy 
tpdhf;fis ghug;;Nghk;. 

 

cq;fSf;F njupAk; CED vd;w Kf;Nfhzpapd; AEC vd;w 

Gwf;NfhzkhdJ ECD iaAk; EDC iaAk; $l;Ltjdhy; fpilf;Fk;. 

 
 AEC = ECD + EDC iaAk; vd vOj KbAk; 

 

<
 

<
 

<
 

<
 

<
 

<
 

mj;Jld; AB Ak; CD Ak; rkhe;juk; MFk; 

 
 BAD = EDC  MFk;. ( xd;W tpl;l Nfhzk; ) 

 

<
 

<
 

MfNt  EDC  vd;w Nfhzj;JffF gjpyhf ehk; BAD vd;w 
Nfhzj;ij Fwpg;gplyhk; 

 

<
 

<
 

 AEC = BAD + ECD  MFk; 

<
 

<
 

<
 

 AED, CEB  Mfpa Kf;Nfhzpfspy; Nfhzk; AEC Gwf;NfhzkhFk;  

  AEC = BCE  + CBE my;yJ AEC = EAD + EDA  MFk; 

  AEC = a + a my;yJ AEC = 3𝑥 + 𝑥  MFk; 

 
  a + a  = 3𝑥 + 𝑥  

 
  2a  = 4𝑥     ( ,uz;L gf;fKk; 2 My; tFg;Nghk; ) 

 
   a  = 2𝑥   

 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
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nraw;ghL

 
 xU gp];ly; ml;ilapy; xU Kf;Nfhzpia tiue;J mjd; 

mff;Nfhzq;fis a, b, c vd ngaupLf. 

 
 a, b, c   Mfpa %d;W Nfhzq;fisAk; cUtpy; cs;sthW ntl;b 

Ntwhf;Ff   

 𝒂 

𝒃 𝒄 𝒂 

𝒃 

𝒄 

 ntl;b vLj;j  a, b, c   Mfpa %d;W Nfhzq;fisAk; cUtpy; 

cs;sthW xU Neu;Nfhl;by; Gs;sp O tpy; itg;gjd; %yk;       

𝑎 + 𝑏 + 𝑐 =   1800 vd;gij fhzyhk;. 

 

𝑶 

 xU Kf;Nfhzpapd; %d;W mff;Nfhzq;fspd; $l;Lj;njhif 

     1800 MFk;. 

 

cjhuzk; - 1 
: 

fPNo jug;gLfpd;w Nfhzq;fs; %d;Wk; Kf;Nfhzp xd;wpd;  
mff;Nfhzq;fs; MFkh? 

 1. 500 , 400, 700 Mfpa %d;W Nfhzq;fisAk; $l;Lfpd;w NghJ 

ngWkhdk; 1800 fpilf;fpd;wjh vd ghUq;fs; 

       500  +    400 +  700  =   1600 
 

ve;j Kf;NfhzpapdJk; %d;W mff;Nfhzq;fspd; $l;Lj;Njhif 1800 MFk;. 

,q;F %d;W Nfhzq;fspd; $l;Lj;njhif 1800 tpl FiuthfNt cs;sJ. 
vdNt ,it Kf;Nfhzpapd; mff;Nfhzq;fshf Vw;Wf;nfhs;sg;glkhl;lhJ 

 



MATHS  WITH  GUNA SIR       ( 071 - 5194914)             | 6  
 

 

  

 

 

 

 

 

 

 

  

 

 

 

cjhuzk; - 2 

   𝑥  +    700  +    600   =  1800 
 

   𝑥  +      1300   =  1800 
 

   𝑥    =  1800  −  1300 
 

   𝑥    =  500 
 

cjhuzk; - 3 

   𝑥  +    𝑥  +    400   =  1800 
 

  2𝑥  +    400   =  1800 
 

   2𝑥    =  1800  −  400 
 

   2𝑥    =  1400  
 

   𝑥    =  700  
 

,g;NghJ ehk; vkJ ghlGj;jfj;jpy; 96 k; gf;fj;jpy; 8.2 gapw;rpapy;     

(2) iii tJ tpdhit ghug;;Nghk; 

 

   𝑎 + 10  +    𝑎 − 30   +  2𝑎  =  1800 
 

      4𝑎 − 20     =  1800 
 

      4𝑎     =  1800 + 20 
 

      4𝑎     =  2000 
 

      𝑎     =  500 
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v  

 

 

 

,g;NghJ ehk; vkJ ghlGj;jfj;jpy; 100 k; gf;fk; Vida gapw;rpfis   
ghug;;Nghk; 

 

cq;fSf;F ,e;j gpurpdj;ij jPu;g;gjw;F rkg;gLj;jy; Kiwapid gad;gLj;j 
KbAk;. mjw;f;fhf cUtpy; ,U Kf;Nfhzpfis ,zq;fhd;Nghk;.  

 
mjhtJ Kf;Nfhzp ABC, ADC apy;  

 
 BAC = CAD   

 
 BCA = ACD  vdf; nfhs;f. 

 

Kf;Nfhzp ABC apy; ABC + BAC + BCA  = 1800  MFk;; 

 
Kf;Nfhzp ADC apy; ADC + CAD + ACD  = 1800  MFk;;  

 

 

MfNt  ABC + BAC + BCA  =  ADC + CAD + ACD   

 

 

  ABC   =  ADC   MFk;. 

 

 

Kjypy; jfty;fSf;F nghUj;jkhd glj;jpid tiue;J juTfis 
mjpy; Fwpf;f. 

B 

A 

C 
D 

𝑖 ) ABC rkgf;f Kf;Nfhzp Nfhzq;fs; 
rkd;.  

 

 

 

 

 

 

 

 vdNt – BAC  
1800

3
=  600   

 

 

 

 

 

 

 

 ii ) ABC rkgf;f Kf;Nfhzp 
Nfhzq;fs; rkd ;.  

 

 

 

 

 

 

   𝟔𝟎𝟎  
 

   𝟔𝟎𝟎  
 

   𝟑𝟎𝟎  
 

 ABC + BAD + ADB  = 1800   

 

 600 + 300 + ADB  = 1800   

 
  900 + ADB  = 1800   

 
  ADB  = 1800 −  900   

 
  ADB  = 900   

 

Kf;Nfhzp  ABD nrq;Nfhz Kf;Nfhzp   
MFk; 

 

 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

<
 


